Standard Drawing Guidance (do not show on plans):
This system meets NCHRP 350 TL-3 bridge railing requirements.
Max. post spacing = 6'-3"

Design weight of 12—-gauge thrie beam bridge rail equals 35 Ib/If.

IF A SEAL IS PRESENT ON THIS SHEET IT HAS BEEN ELECTRONICALLY SEALED AND DATED.

THRIE3a_system3_rehab Effective: Apr. 2021 Supersedes: Jul 2020
¢ Post (End of rail for payment) 1275 gt T0°F (F g Lo Begin bridge anchor seoﬂonﬁ General Notes:
. tq ° ree slidin a
Detail A 19ing 1op ¢ First Post on bridae—s! Design Specifications: 2002 AASHTO LFD (17th Ed. )
‘ Permissible Regular Expansion splice in . . Lot ©this i - Tt Fost on bridgeT= Standard Specifications
! Splice befween posts channel shal | be made © splice plates a IS Type join t et .
r‘_* {gr‘qg/,e// +hri2 beam of first post on either saome as joint opening DIRECTION ! Guardrail delineators shall be attached to the top of
/A . A sections only (Typ. ]*\ side of fhe jom‘r*\ ¢ Post perp. to slab (Typ.) —= ‘ (Ends of C8x11.5 cap rail) OF TRAFFIC | ggiogﬁgrgzowsggﬁrghg“rc‘mic‘lrc‘j‘Sr\c‘]% g?? %rge gic‘(‘agioigg‘r
| | | . )
/ I i T Tt — T ———— 57— ——— [ ———————— _": the delineator body shall be attached to the top of
| T T T the cap rail using galvanized anchorage as shown on
— T T il ‘ Missouri Standard Plan 606.00. Delineators on bridges
\\ ] ] t ] ] ] ] ] ] 1 with two-lane, two-way tfraffic shall have
,,,,, — y ... refroreflective sheeting on both sides. Guardrail SATe FREFARED
SN, F' ¥ ¥ T M N delineators will be considered completely covered by
- He N o o e 1 | s 1 1 SRR - oo o : the contract unit price for Bridge Guardrail (Thrie 7/21/2021
\ ) " — — " . . — Beam) . ROUTE STATE
12/,/ Bolts fightered fo 12 | 12" (Min.) | At bridge ends for head to head x MO
snug tTight condition : . . " . . traffic, guardrail shall be used P | +th £ ch | b Rall b ++ached
(Min.) only and burr fhreads (in-o Joint Opening 197 thox-) Joint Opening at all four corners and for single ngimugr&g‘ys*g oom?g?ﬁummgz wecgirSDgsﬂrs gmg GG;oiimum DISTLCT | SN
(Thru 2" opening) (Over 2" opening) directional traffic. guardrail of six posts (except at end bents).
shall be used at enfrance ends COUNTY
only unless required at fhe exit. All boltss nuts. washers and plates will be *
ELEVATIDN DF THRIE BEAM RAIL caonsidered completely covered by the contract unit JOB NO.
price for Bridge Guardrail (Thrie Beam). *
All steel connecting bolts and fasteners for posts CONTRACT 1D
and railing. and all bolts, nuts, washers and plates
shall be galvanized after fabrication. Protective PROJECT NO.
12 G » coating orjd material rquiremerﬁ of steel railing
(QVVBVEiZEQGF"?ST BLOCKOUT-TO-POST CONN. auge 67 shall be in accordance wifth Sec 1040. BRIDGE NO.
g?xﬂi Siee\ € Two 13/16"@ Holes in Rai |l posts shall be set perpendicular to roadway THRIE 3A
Detail B P ogiou Wex20 post flange and Wex15 profile grade. vertically in cross section and
> T\\ (1337 long) blogkout flange and & Two 3 P aligned in accordance with Sec 713 except that the
P e - = 5/870 Hex Head Bolts with e x 23 Cut fop rail posts shall be aligned by the use of
\ twe washers and hex nut S\o‘r+ed channell 3 x 1 3/4-inch shims such that the post deviates not
< —TO-| . Holes Fflush with more than 1/2 inch from true horizontal alignment
E ~ r THRIE BEAM To BLQCKUUT.CDNN end of after final adjustment. The shims shall placed -
o8 € 137167 x 2 1/2" Vertical end post—= befween the blockout and the fhrie beam rail. The =
e 2 B Slotted Hole in Wex15 > thickness of the shims shall be determined by the =
FAlng blockout flange (1) and G 2%, x 11" - contractor and verified by the engineer before =
e € 5/8"@ Carriage Bolt with Slotted Hoﬁ\es ordering material for this work. =
Ll o one flat washer and hex nut cs b
@ ELEVATION x11.5 Cap Rail . . . . i
>l a At the expansion slots in the fthrie beam rails and a
o|o Asphaltic Concrete —_ channels, the bolts shall be tightened and backed off
+ 8 (2) (Match existing) DETAIL A PLAN A A one-half turn and the threads shal | be burred.
o & r Saw cut. hydroblast or At the thrie beam connection fo blockout on wings.
o= chip with vertical sides the bolfs shall be fTightened and backed off one-half
~ C B | turn and fthe fhreads shall be burred.
e R 2 N S —Exist. Asphalt o ] ) ) w
A= ‘ e SRS S Concrete Deck W6x20 Post ¢ Two 5/8"@ Carriage Mmlrmum length of thrie beam sections is equal to one &
Remove existing - Bolts with flat post space. o
P6X3 5x e ‘ ‘ noovo exiSTIng S - washer and hex nut
Washer , . [ This line = . % A 5/8-inch diameter button—head. oval shoulder bol+t — e
! [N . Two 5/8 '@ Button "~ o with a minimum 3/8-inch thick hex nut shall be used o 5o®
‘ ‘% """""" D Head Bolts with one = | at all slots. - Che
' flat washer and = . o ©©
- 7 " 1/2" Bent Plate (Top & bottom) I Thrie . . . = o4
(2]f%E L‘Je (Lovel with qualified special hex nut Caains 717\[/ | Beam TQM? beam guardrail on the bridge shall be 12-guage |k °gr
' 775 mortar. see Sec 704) .T Cap Rall | | Rail steel. Q b
(3) ca { = I Posts, cap rail angles, bent plates, blockouts, 2 =03
Ro?\ S > | channels and channel splice plates shall be ; ol
N 5/8"® Hex e} fabricated from ASTM A709 Grade 36 steel and = = —Z
PART SECTION AT RAIL POST Angle Head Bolt = W6x15 Steel Blockout galvanized. R 21
. Tth t =
For Section C-C see Sheef No. __. | aéshervsvo& ¢ Two 5/8”7@ Head Hex Bolts Flat washers 3 x 1 3/4 x 3/16-inch minimum shal | be ig w2
. . Rex nut with two washers and hex nut used at all post bolfs befween the bolt head and »= |— N
See slab sheet for rail post spacing. beam. The washers shall be rectangular in shape with |£= @
. . DETAIL B SECTION B-B an 11/16 x 1-inch slot. or when necessary of such <O I
(1) R =0 @
equired on one side of web only, design as to fit the conftour of the beam. Rectangular | I S
but may be provided on both sides washers 3 x 1 3/4 x 5/8-inch shall be used between o D @
of web at the contractor’'s option. fthe blockout and the fthrie beam rail. = -
(2) POST-TO-BENT PLATE CONNECTION Special drilling of the fhrie beam may be required at |=—
€ Two 1”@ ASTM F3125 Grade A325 3. P the splices. All drilling defails shall be shown on )
Type 1 Bolts with hardened washers ¢ 7" x 23 Slots [Regular the shop drawings. S
and hex nuts 12571 gp  splice) and £ x 33" Slots A
z (Expansion splice at post) Fabrication of structural steel shall be in =
¢ Two 1 1/16" x 1 1/2" Vertical | I accordance with Sec 1080.
Slotted Holes in both upper post . Symm. abt. © '
flanges Neutral Axis - Y L ‘ | Expansion splices in fthe thrie beam rail shall be
| 10°00700 (o) o} DIRECTION made at either the first or second post on either
€ Two 1 1/16"® Holes in washer § I | . | =~ OF TRAFFIC side of the joint and on structure at bridge ends.
plate. inside lower post flange Wl e /\ 5 /\ | when the splice is made at the second post. an
and both bent plates S| me| = + t + (©] ! (©) expansion slot shall be provided in the thrie beam
I R / + o+ ‘ + o+ \ f\/ ‘ ‘ | Eliminate slot rail for connection to fthe first post fo allow for
(3) BENT PLATE-TO-DECK CONNECTION , 7= (O] or provide movement .
¢ Three 1 1/8"@ Drilled Holes in 519 % L3¢ 3" i | | : Eg‘fiog*hggc‘i‘ceg In addition fo the expansion provisions at the
slab o § *(gT R.) I between posts exP?msiSm#}om;s. eTpoRs';(‘mbsp\ ice§dIQ f:e Ipm‘e beam
¢ Three 170 ASTM A307 Bolts witn Bk 194"+ " locations 56 thot he moximom |ength without
g/qshers and k'wex nuts ng Zie| O expansion provisions does not exceed 200 feet.
- @‘—P—Q 293," x 13" Slots (Reg.
I I I . .
" . I ) d 2%, 2Ln Shim plates 6 x 6 x 1/16—inch may be used between the
Q‘;:gge 1 1/4"@ Holes in both bent SECTIUN THRU THRIE BEAM RAIL ‘ ‘ ‘ splice) an _82 X z top of the post and the chamnel member ds required
P | | ., | Stofs (Expansion splice) for vertical alignment.
2" ‘4‘?”‘4‘5”‘ 2" (Regular splice) Shim plates shall be galvanized after fabrication.
30 IRy 3 . . . . . . .
See Missouri Standard Plan 606.00 for details not shown. 2 |327[32 23 (Expansion splice) Confractor shall verify all dimensions in field
before ordering materials.
. THRIE BEAM RAIL SPLICE Outline of existing work is indicated by Iight dashed
Bgié??gg lines. Heavy lines indicate new work.
Checked Note: This drawing is not to scale. Follow dimensions. Sheet No. of

THRIE3a_system3_rehab.dgn  B8:04:36 AM 7/21/2021




